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Regression Analysis: Y versus X1, X2, X3

The regression edquation is

T o= - 140 + 2.71 X1 + 6.33 X2 + 4.11 X3
Predictor Coef SE Coef T T
Constant -140.44 5l.45 -2.29 0.033
*1 2.713 1.884 1.44 0.165
w2 G.328 1.639 3,78 o.onl
w3 4.111 1.526 Z2.649 0.ol4
3= 37.02 B-5gq = 79.8% B-Sgladj) = 76.9%
Analysis of Wariance
Source DF 55 Ma F P
Begression 3 113876 3789z 27.65 0.ooo
Fesidual Error zl Za7a0 1370
Total 24 142456
Source LF Ged 35
®1 1 41537
Wz 1 G214l
w3 1 Q9443
Tmsual Observations
Obs ®1 T Fit SE Fit Fesidual
5 39.0 363.00 259,24 10.23 103.76
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Stepwise Regression: Pulse2 versus Pulse1, Ran, Activity

Alpha-to-Enter:

Fesponse is

Step
Constant

Pulsel
T-Value
P-Value

Fan
T-Value
P-¥alue

Activity
T-Value
P-Value

Pulsez

10.28

0.957

0.o00

13.5
37.97
37.28

g7. 5

2
44, 43

0.91z
.74
0.o00

-19.1
-9.05
0.o00

9.52
e7.71
B6. 93

3.3

0.15 Alpha-to-Femove:

51.84

0,920z
.73
0.o00

-19.2
-9.19
0.aoa

-3.1
-1.83
0.071

9.70
B8.59
67.83

4.0

0.15

on 3 predictors, with N = 92
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Best Subsets Regression
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c1 Fulsel HESpDHSE!|PulSE2
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3 Fan Free predictors:
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C5 Sen Fulsel Ran Swmokes Sex Height Weight
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[0 Weight
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Best Subsets Regression: Pulse2 versus Pulsel, Ran, ...

Fesponse is Pulsel

A
:
P 3 HWt
1 L e e i
1 o} iiw
s Rk S gogi
eaeehht
Vars BE-5qg BE-Sgrad])) C-p 5 lnsxtty
1 358.0 37,3 1o5.1 13.535 X
1 33.3 32.5 1z22.9 14,041 *
2 67,7 67.0 16,1 9.5821%9 KK
2 47,2 46,0 0.9 12,560 ® X
3 72.1 71.2 4.1 0.1751 X X
3 70,8 69,9 a.1 0.3853 X ®
4 72.9 71.7 3.5 0.0929 X X X
4 T2.3 71.1 L.4 0.1945 XX X x
5 73,2 71.7 4.6 9.0951 XX X XX
5 73,1 71.6 4.9 9.1136 K EEX X
f T3.4 71.5 6.2 9.1260 KR EX w X
& T3.3 71.4 .3 9.1549 xK XX RX
7 73.4 71.2 3.0 0.1716 HHX XX KHX
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Fitted Line Plot

C1 Pulsel Response [Y]: |ZIFEEE
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Predictor |X]:
03 Ran [ ] |Pulse2
c4 Smokes
C5 Jex .
CE Height Type of Regression Model
o7 Weight t* Linear " Quadratic " Cubic
ca Letivity
| Options... Storage...
Help 0K Cancel

Y az)59 ¥ az)s « osdas UgawsS) 359l 1 s bogire JSii V-A JSoi




Fitted Line Plot: Pulse1 versus Pulse?
Fegression Plot

Pulse | = 411223 + 0395241 Pulse2
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Regression Analysis: Pulse1 versus Pulse2

The regreszion edquation is
Pulsel = 41.1223 + 0.396541 PulseZ

5 = §.71542 R-3q = 38.0 % R-3qiadi) = 37.3 %

Analysis of Variance

Source DF 55 Ma F T
Begression 1 4187.5 4187, 47 EL.0904 0.000
Error an Gadl.0 T6.01

Total g1 11025.4

Fitted Line Plot: Pulse1 versus Pulse2
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Fitted Line Plot: Pulse1 versus Pulse?
Regression Plot
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Polynomial Regression Analysis: Pulsel versus Pulse2

The regression equation is
Mulsel = -10,5219 4+ 1.60906 Pulsez
- 0.0067773 PulseZw*z
3 = 5.29813 F-3g = 44.4 % B-aglad)) = 43.2 %

Analysis of Variance

Jource DF 535 M3 F P
Regression Z 4900.0 2449,99 35.5799  0.000
Error g9 Bl25.4d 65,56

Total 91 11025, 4

Source DF Seq 85 F P

Linear 1 4157.47 EL.0904 0.000

Muadratic 1 T12.52 10.3475 0.002

N-A JSoi

Y a5 OgawyS, 30l 31 A bgiyo (s>9,>




Fitted Line Plot: Pulse1 versus Pulse2 : E|[Z|
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Polynomial Regression Analysis: Pulsel versus Pulse2

The regression edquation is

Pulsel = -131.377 + 5.36403 PulseZ

- 0.0548973 PulseZ¥*2 + 0.0001744 Pulsez**3

5 o= 8.12270 B-3gq = 47.4 % E-3glad]j) = 45.6 %

Analysis of Variance

Source DF S5 Ju ks F P
Regression 3 L22z2.4 1740.78 26,3842 0,000
Error a8 Lans. 1 &5, 08

Total a1 linza.4

SJource DF Seq 33 F P

Linear 1 4187.47 55,0904 0,000

Quadratic 1 71z.52 10,3476 0,002

Cubic 1 322,36 4.85859 0.030
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